
I.D.:	89263846

Achizitie	pachet	materiale	de	construcţii

Data
publicarii

14.11.23 Coduri	CPV 44100000-1

Termenul
limita
pentru
depunere:

17.11.23 Pretul	estimativ: 14.000,00	RON	-	16.000,00	RON

Descriere: Achiziţie	pachet	materiale	de	construcţii:	1	Set	şurub	cu	cap	hexagonal	cu	piuliţa
hexagonală:	M6X6,	M6X8,	M6X10,	,6X12,	M6X14,	M6X16	100	bucăţi;	2	Ancoră	cu	cep	cilindric
AFB,	M16	L-200	mm	clemă	inox	pentru	beton	zincat	-	alb	20	bucăţi;	3	Ancoră	cu	cep	cilindric
AFB,	M12	L-	140	mm	clemă	inox	pentru	beton	zincat	-	alb	20	bucăţi;	4	Racord	extensibil
pentru	lavoar,	alb,	1	1/2",	D32	-	40	mm	20	bucăţi;	5	Racord	flexibil	monobloc,	pentru	baterii
1/2",	L	-60cm	30	bucăţi;	6	Aerisitor	automat	1/2"	25	bucăţi;	7	Robinet	apă	de	trecere	1/2",
interior-exterior,	fluture	25	bucăţi;	8	Diblu	plastic	cu	holşurub	cap	hexagonal	8x100	mm	40
bucăţi;	9	Diblu	universal	din	nzlon,	cu	şurub	cui:	6x60,8x140,	10x6,6x40,8x52	100	bucăţi;	10
Pânză	dinsc	metalic	flex	pentru	tăierea	metalului	125mm	50	bucăţi;	11	Disc	diamantat
230x22x12	pentru	taierea	betonului,,	pavaj,	cărămidă	5	bucăţi;	12	Baterie	lavoar,	pipa
medie	mobilă,	crom	lucios	15	bucăţi;	13	Set	pară	dus	cu	suport	şi	furtun	flexibil	20	bucăţi;
14	Baterie	pentru	cadă/duş,	montaj	aplicat,	monocomandă,	finisaj	cromat	5	bucăţi;	15
Cilindru	siguranţă,	alama,	satin	nichel,	3	chei,	30x30	20	bucăţi;	16	Broască	îngropată
pentru	tâmplărie	PVC,	20mm,	interax	85mm	10	bucăţi;	17	Electrozi	pentru	sudură,	2,50	mm
10	kilograme;	18	Electrozi	pentru	sudură,	1,60	mm	10	kilograme;	19	Broască	îngropată	cu
închidere	multipunct	4P,	pentru	uşi	din	PVC,	25	x	92mm	5	bucăţi;	20	Cot	PPR	D20	100
bucăţi;	21	Cot	PPR	D25	100	bucăţi;	22	Cot	PPR	D32	50	bucăţi;	23	Teu	PPR	D20	100	bucăţi;
24	Teu	PPR	D25	50	bucăţi;	25	Teu	PPR	D32	30	bucăţi;	26	Conector	PPR	D20	50	bucăţi;	27
Conector	PPR	D25	50	bucăţi;	28	Conector	PPR	D32	25	bucăţi;	29	Olandez	PPR	S20	50
bucăţi;	30	Olandez	PPR	S25	50	bucăţi;	31	Olandez	PPR	D32	50	bucăţi;	32	Mufă	PPR	D20	100
bucăţi;	33	Mufă	PPR	D25	100	bucăţi;	34	Mufă	PPR	D32	50	bucăţi;	35	Niplu	Bronz	1/2"	50
bucăţi;	36	Niplu	Bronz	3/4"	20	bucăţi;	37	Niplu	Bronz	1"	15	bucăţi;	38	Robinet	1/2"	30	bucăţi;
39	Robinet	3/4"	20	bucăţi;	40	Robinet	1"	20	bucăţi;	41	Ţeavă	PPR	D20,	4	m	10	bucăţi;	42
Ţeavă	PPR	D25,	4	m	10	bucăţi;	43	Ţeavă	PPR	D32,	4m	10	bucăţi;	44	Reducţie	Bronz	1/2"	-
3/8"	20	bucăţi;	45	Reducţie	Bronz	1/2"	-	3/4"	20	bucăţi;	46	Reducţie	Bronz	3/4"	-	1/2"	20
bucăţi;	47	Reducţie	Bronz	1"	/3/4	20	bucăţi;	48	Săritură	PPR	D20	10	bucăţi;	49	Săritură	PPR
D25	10	bucăţi;	50	Punte	ocolire	PPR	D32	10	bucăţi;	51	Mufă	rapidă	3/4"	20	bucăţi;	52	Mufă
rapidă	1/2"	10	bucăţi;	53	Mufă	rapidă	1"	10	bucăţi;	54	Ţeavă	cupru	D15,	4	m	4	bucăţi;	55
Ţeavă	cupru	D18,	4	m	4	bucăţi;	56	Ţeavă	cupru	D22,	4	m	4	bucăţi;	57	Ţeavă	cupru	D28,	4	m
4	bucăţi;	58	Adaptor	alamă	D15	20	bucăţi;	59	Adaptor	alamă	D18	20	bucăţi;	60	Adaptor
alamă	D22	20	bucăţi;	61	Adaptor	alamă	D28	20	bucăţi;	62	Teu	cupru	18-15-18	20	bucăţi;	63
Teu	cupru	22-18-22	20	bucăţi;	64	Teu	cupru	22-15-22	20	bucăţi;	65	Şnur	etanşare	filete
55x160m	10	bucăţi;


